
4  20.01

FLOW CONTROL

ZC

ZD

ZE

ZC C 06

04

06

08

10

12

Ø4mm

Ø6mm

Ø8mm

Ø10mm

Ø12mm

03

M5X0.8

R1/8

R1/4

R3/8

R1/2

M5

01

02

03

04

A

B

A



4  20.02

ZC

ZCCAZCSA ZCCBZCSB

ZCCA-04-M5
ZCCA-04-01
ZCCA-04-02
ZCCA-06-M5
ZCCA-06-01
ZCCA-06-02
ZCCA-06-03
ZCCA-06-04
ZCCA-08-01
ZCCA-08-02
ZCCA-08-03
ZCCA-08-04
ZCCA-10-01
ZCCA-10-02
ZCCA-10-03
ZCCA-10-04
ZCCA-12-02
ZCCA-12-03
ZCCA-12-04

12

10

8

6

4

ØD L

26.5

31

30

36

23

23.5

H

30

34

31

38

46

30

ØP

10

12

14

19

F

8
10
14
8

12

17
21

14

19

21

19

21

17
21

14

M5x0.8

M5x0.8

R

1/8
1/4

1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/4
3/8
1/2

ZCCA 



4  20.03

FLOW CONTROL

ZCU-04
ZCU-06
ZCU-08
ZCU-10
ZCU-12

ØD ØdØP L/2 H

4
6
8

10
12

12
14
16
21
21

19.5
21
27

37.5
37.5

34.7
38.1
46.5
48.8
48.8

4.3

ZCU –

ZCSA 

ZCSA-04-M5
ZCSA-04-01
ZCSA-04-02
ZCSA-06-M5
ZCSA-06-01
ZCSA-06-02
ZCSA-06-03
ZCSA-06-04
ZCSA-08-01
ZCSA-08-02
ZCSA-08-03
ZCSA-08-04
ZCSA-10-01
ZCSA-10-02
ZCSA-10-03
ZCSA-10-04
ZCSA-12-02
ZCSA-12-03
ZCSA-12-04

12

10

8

6

4
M5x0.8

M5x0.8

ØD ØPR F L H H1

1/8
1/4

30

26.526.5 34

31

31 31

38

30 30

36 3646

23 2310

23.5 23.53012

14

19

8
10
14
8

12

17
21

14

19

21

19

21

17
21

14

1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/4
3/8
1/2



4  20.04

ZCSB

ZCSB-04-M5
ZCSB-04-01
ZCSB-04-02
ZCSB-06-M5
ZCSB-06-01
ZCSB-06-02
ZCSB-06-03
ZCSB-06-04
ZCSB-08-01
ZCSB-08-02
ZCSB-08-03
ZCSB-08-04
ZCSB-10-01
ZCSB-10-02
ZCSB-10-03
ZCSB-10-04
ZCSB-12-02
ZCSB-12-03
ZCSB-12-04

12

10

8

6

4
M5x0.8

M5x0.8

ØD ØPR F L H H1

1/8
1/4

30

26.526.5 34

31

31 31

38

30 30

36 3646

23 2310

23.5 23.53012

14

19

8
10
14
8

12

17
21

14

19

21

19

21

17
21

14

1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/4
3/8
1/2

ZC

ZCCB-04-M5
ZCCB-04-01
ZCCB-04-02
ZCCB-06-M5
ZCCB-06-01
ZCCB-06-02
ZCCB-06-03
ZCCB-06-04
ZCCB-08-01
ZCCB-08-02
ZCCB-08-03
ZCCB-08-04
ZCCB-10-01
ZCCB-10-02
ZCCB-10-03
ZCCB-10-04
ZCCB-12-02
ZCCB-12-03
ZCCB-12-04

12

10

8

6

4

ØD L

26.5

31

30

36

23

23.5

H

30

34

31

38

46

30

ØP

10

12

14

19

F

8
10
14
8

12

17
21

14

19

21

19

21

17
21

14

M5x0.8

M5x0.8

R

1/8
1/4

1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/4
3/8
1/2

ZCCB



4  20.05

FLOW CONTROL (METAL)

ZDCA-04-M5
ZDCA-04-01
ZDCA-04-02
ZDCA-06-M5
ZDCA-06-01
ZDCA-06-02
ZDCA-06-03
ZDCA-06-04
ZDCA-08-01
ZDCA-08-02
ZDCA-08-03
ZDCA-08-04
ZDCA-10-01
ZDCA-10-02
ZDCA-10-03
ZDCA-10-04
ZDCA-12-02
ZDCA-12-03
ZDCA-12-04

12

10

8

6

4
M5x0.8

M5x0.8

ØD ØPR F L H

1/8
1/4

30

26.5 34

31

31

38

30

36 46

2310

23.5 3012

14

19

8
10
14
8

12

17
21

14

19

21

19

21

17
21

14

1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/4
3/8
1/2

ZDCA 

ZDCB-04-M5
ZDCB-04-01
ZDCB-04-02
ZDCB-06-M5
ZDCB-06-01
ZDCB-06-02
ZDCB-06-03
ZDCB-06-04
ZDCB-08-01
ZDCB-08-02
ZDCB-08-03
ZDCB-08-04
ZDCB-10-01
ZDCB-10-02
ZDCB-10-03
ZDCB-10-04
ZDCB-12-02
ZDCB-12-03
ZDCB-12-04

12

10

8

6

4
M5x0.8

M5x0.8

ØD ØPR F L H

1/8
1/4

30

26.5 34

31

31

38

30

36 46

2310

23.5 3012

14

19

8
10
14
8

12

17
21

14

19

21

19

21

17
21

14

1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/4
3/8
1/2

ZDCB



4  20.07

FITTING

ZPC-04-M5
ZPC-04-01
ZPC-04-02
ZPC-06-M5
ZPC-06-01
ZPC-06-02
ZPC-06-03
ZPC-08-01
ZPC-08-02
ZPC-08-03
ZPC-08-04
ZPC-10-01
ZPC-10-02
ZPC-10-03
ZPC-10-04
ZPC-12-02
ZPC-12-03
ZPC-12-04

12

10

8

6

4

ØD F

8
10
14

10

17
14

17

21

14

21
17

17
21

14
12

H

9.5

9.5

10.5

17

17
13

18

10
10.5

13.5
10.5
18

13.5
10.5

13
16

M5x0.8

M5x0.8

R

1/8
1/4

1/8
1/4
3/8
1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/4
3/8
1/2

ZPC

ZPOC

ØD FØP

4

6

8
10
14

10

14

H

17
9.5

10.5
17
13
19

2

2
4
5

3

ZPOC-04-M5
ZPOC-04-01
ZPOC-04-02
ZPOC-06-M5
ZPOC-06-01
ZPOC-06-02

R

M5x0.8

M5x0.8

1/8
1/4

1/8
1/4

ZP   

ZK

ZS

ZP C 06

04

06

08

10

12

Ø4mm

Ø6mm

Ø8mm

Ø10mm

Ø12mm

03

M5X0.8

R1/8

R1/4

R3/8

R1/2

M5

01

02

03

04



4  20.08

ZPLM –

ZPLM-04-M5
ZPLM-04-01
ZPLM-04-02
ZPLM-06-M5
ZPLM-06-01
ZPLM-06-02
ZPLM-06-03
ZPLM-08-01
ZPLM-08-02
ZPLM-08-03
ZPLM-10-02
ZPLM-10-03
ZPLM-10-04
ZPLM-12-02
ZPLM-12-03
ZPLM-12-04

12

10

8

6

4

ØD L

26

21

24

29

31

H

10.5

14.5

12.5

16.5

19.5

ØP

10

12

14

16

21

F

8
10
14

10

17
14

17

21

21

17

14

17
14

M5x0.8

M5x0.8

R

1/8
1/4

1/8
1/4
3/8
1/8
1/4
3/8
1/4
3/8
1/2
1/4
3/8
1/2

ZP

ZPOL 

ZPOL-04-M5
ZPOL-04-01
ZPOL-04-02
ZPOL-06-M5
ZPOL-06-01
ZPOL-06-02
ZPOL-06-03
ZPOL-08-01
ZPOL-08-02
ZPOL-08-03
ZPOL-10-01
ZPOL-10-02
ZPOL-10-03
ZPOL-12-02
ZPOL-12-03

10

8

6

4

ØD

12

ØP

10

12

14

16

19

F

3

8

4

6

M5x0.8

M5x0.8

R

1/8
1/4

1/8
1/4
3/8
1/8
1/4
3/8
1/8
1/4
3/8
1/4
3/8

H

17

15

14

14

21

21

25

15

17
21

L

21

19

19.5

22.5

24

26.5

21
22.5



4  20.09

FITTING

ZPX ( )

ZPX-04-M5
ZPX-04-01
ZPX-04-02
ZPX-06-M5
ZPX-06-01
ZPX-06-02
ZPX-06-03
ZPX-08-01
ZPX-08-02
ZPX-08-03
ZPX-10-02
ZPX-10-03
ZPX-10-04

M5x0.8

M5x0.8

ØPR F L H Ød

1/8
1/4

47

47

46

46

29 49

33.5

4.3

59

3.3
12 25

14

16

10

14

12

17
14

21

17

14

1/8
1/4
3/8
1/8
1/4
3/8
1/8
1/4
1/2

ØD

4

6

8

10

ZPE-04
ZPE-06
ZPE-08
ZPE-10
ZPE-12

ØD ØdØP L/2 H

4
6
8

10
12

10
12
14
16
21

17
19.5
21
27

37.5

22.5
25
27
31

35.5

4.3

3.3

ZPE

ZPY-04
ZPY-06
ZPY-08
ZPY-10

ØD ØdØP L H

4
6
8

10

10
12
14
16

25
25
29

34.5

45
45

47.5
55

4.3

3.3

ZPY ( )



4  20.10

ZPU-04
ZPU-06
ZPU-08
ZPU-10
ZPU-12

ØD ØP L

4
6
8

10
12

8
10
12
14
17

31.6

32.6

36.6
37.6

ZPU

ZPG-06-04
ZPG-08-06
ZPG-10-08
ZPG-12-10

ØD1

6
8

10
12

ØD2

4

6

8
10

ØP1

10
12

14
17

ØP2

8
10

12
14

L

32.1
32.6

34.6
37.1

ZPG

ZP



4  20.11

FITTING (METAL)

ZKE

ZKE-04
ZKE-06
ZKE-08
ZKE-10
ZKE-12

ØD ØP L/2 H

4
6
8

10
12

10
10
12
14
17

18
18
19
21

26.5

23
23
25
28
35

ZKL 

ZKL-04-M5
ZKL-04-01
ZKL-04-02
ZKL-06-M5
ZKL-06-01
ZKL-06-02
ZKL-06-03
ZKL-08-01
ZKL-08-02
ZKL-08-03
ZKL-10-02
ZKL-10-03
ZKL-10-04
ZKL-12-02
ZKL-12-03
ZKL-12-04

12

10

8

6

4
M5x0.8

M5x0.8

ØD ØPR F L H

1/8
1/4

22 30

21
26

27
10

2110

12

23 3214

26.5 3517

12

14

12

17
14

19

21

21

14

17

1/8
1/4
3/8
1/8
1/4
3/8
1/4
3/8
1/2
1/4
3/8
1/2

26

27



4  20.13

ZSSC

ZSSC-04-M5
ZSSC-04-01
ZSSC-04-02
ZSSC-06-M5
ZSSC-06-01
ZSSC-06-02
ZSSC-08-01
ZSSC-08-02
ZSSC-10-02
ZSSC-10-03
ZSSC-12-02
ZSSC-12-03
ZSSC-12-04

12

10

8

6

4

ØD H

26.5

24.5

26.5

28.5

24.5

30

F1

10

12

14

17

19

F

10

14

12

14

19

21

17

M5x0.8

M5x0.8

R

1/8
1/4

1/8
1/4
1/8
1/4
1/4
3/8

1/4
3/8
1/2

FITTING (STAINLESS 316)

ZSSL-04-M5
ZSSL-04-01
ZSSL-04-02
ZSSL-06-M5
ZSSL-06-01
ZSSL-06-02
ZSSL-08-01
ZSSL-08-02
ZSSL-10-02
ZSSL-10-03
ZSSL-12-02
ZSSL-12-03
ZSSL-12-04

12

6

4
M5x0.8

M5x0.8

ØD HR ØP L F1

1/8
1/4

21
26

27
10

29
29.5

23
27.8
29

49 1943

12

14

12

14

19

21

8 1439

31

33

14

10 44 173517

1/8
1/4
1/8
1/4
1/4
3/8
1/4
3/8
1/2

12

ZSSL 


